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QID : 751 - According to Erik Erikson's Stages of Psychosocial Development, which one of the
following basic virtues does an individual acquire during the adolescent years upon successful
completion of the stage?

4ER EeaF AIGde GR19 994 2gAIER, FEEIANEI ATR AT A°Y 62IAEA 61T MTF AIHER
ORYE FQ 6w 6910w GegET cegelg AFara?

== Techofworld.In

1) Competency
[N

2) Fidelity

Ay g& fal

3) Purpose
REW

4) Wisdom
Q&SI

Correct Answer: 2) Fidelity
agy 9¢ fal

Candidate Answer: 3) Purpose
QEQEY

QID : 752 - In Jean Piaget's theory of cognitive development, Concrete operational stage
corresponds to ages:

&g Jeleeq & ARIAR GR1d ARIB6R, 2@ RITIAITE 0ad QOY ATG EAR SIRQAN |

191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1calbeld4e58q=ZmJIkNThhNjJKZ]BiZWEWY]Y3YjUxY... 1/
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Options:

1) 510 9 years
5@9ad

2) 210 7 years
2749

3) 7 to 11 years
7Q 11 Q4

4) 12 to 18 years
12Q 18 @F

Correct Answer: 3) 7to 11 years
7@ 11Qd

Candidate Answer: 4) 121to 18 years

Techofworld.In

QID : 753 - Jean Piaget's theory of cognitive development suggests that children move through
different stages of mental development.

ARIRIER 1630 GRIEQ Q0R 90d 60 98 @R2IE 6eln Fq J2I6ee & ARINR JRIH IR
QdIQalN?

Options:

1) three
2

2) four
IR

3) five
18

4) six
22

Correct Answer: 2) four
QR

Candidate Answer: 2) four
IR

QID : 754 - Who among the following disagreed with the idea that intelligence was a fixed trait,
and regarded cognitive development as a process which occurs due to biological maturation and
interaction with the environment?

FONYS FRIQ &4 QRS 9@ AN RAE 2T 691N AAFC EM IQ° ARIAR IR IR 9T ANEQ AL
659 90096 99° 9RERd AT QMR QAIRIQ ATAN QIR *28E?
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Options:

1) Sigmund Freud
doe gae

2) Erik Erikson
QR 9QQQAR

3) Jean Piaget
@q JeIeee

4) B. F. Skinner
3.9U.80Q

Correct Answer: 3) Jean Piaget
@ Geeeq

Candidate Answer: 2) Erik Erikson
AR 90a]

Techofworld.In

QID : 755 - Language, religion, custom, tradition etc. form a part of which one of the following?
QIS 26, YT, YA ANIE RGP FEYIB FRIQ 26l 98 *R2AF?
Options:

1) Social environment
AIGD A6

2) Natural environment
dIgoa Jdeeas

3) Nature

990

4) Heredity

R8IGGE

Correct Answer: 1) Social environment
AICIFR Q64

Candidate Answer: 1) Social environment
AT A6

QID : 756 - Why should the teacher have the knowledge of heredity and environment of his/her
students?

§64 FARTA °FIGFF B GIF BIGRIFIFA UNEH FEAEQ RIF QYL AIT® LGHR?
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Options:

1) so that the teacher knows the achievement potentials of the student

AIYFINR IR ARITA QUG ARIQAIQ FIFAIRER

2) so that the teacher knows the spending abilities of the student

ARG IR TRIT 6@6S LAY 6RRAIFACS FIFARE

3) so that the teacher knows the varying needs and abilities of the children

QIRIFINIR J9e IRITA JER G124 8 ANYS FER FITARFER

4) so that the teacher can decide whether he will be suitably compensated by the child's parents
QARG 9 dncg deniels gl 0] Q6 219IAeI TALRARLR Q1 QIR G9! Fa KAt

Correct Answer: 3) so that the teacher knows the varying needs and abilities of the children
QLTI FIe INITS TR SI2G1 8 QNS FTAER FITARER

Candidate Answer: 1) so that the teacher knows the achievement potentials of the student
JIFFIRT FAQ INITQ QAS QALY FIFACER

Techofworld.In

QID : 757 - Who among the following was the first psychologist to make a systematic study of
cognitive development?

FANYS FRIP 629 FIERIARIGT gAI6F ARIND FRITQ U9 LTS 2R KG2en?

Options:

1) Sigmund Freud
A9S 99

2) Erik Erikson
AR 96QaQ

3) Jean Piaget
@q daeeq

4) B. F. Skinner
8.4¢.359

Correct Answer: 3) Jean Piaget
@q J2Ieeq

Candidate Answer: 1) Sigmund Freud
dong e

QID : 758 - Which one of the following helps the teacher provide better learning environment in
the school?

GMEa SIRRE GONYE g Q6 IR S”EI0 AT JQIe KTRIEq ARG @Qi2IN?
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Options:

1) knowledge of parents' income

UCRISSS 2 AU6Q RIQ

2) knowledge of students' heredity and environment

FI9A Q°8 Q° JREIE QU6 R

3) description of each student's height and weight

6L 899 ARCI IQ° Ba0a @Al

4) Knowledge of where each student lives and the number of rooms in his’her house
g69YR 81 6RR0I6R 9G° 6R60IT 6RI0A1 g9 Q6Q 64IER QEd

Correct Answer: 2) knowledge of students' heredity and environment
IR Q°8 9Q° JQAEE QUER R

Candidate Answer: 2) knowledge of students' heredity and environment
1A Q°4l IG° ARERE QI6Q RIS

Techofworld.In

QID : 759 - To Piaget, cognitive development was a progressive reorganization of
as a result of biological maturation and environmental experience.

TRUICRAF F196Q, 66aQ IRARG! ¥e° UR6RY AQR1A 2AZHEA AAIAIQA AR IRI4 Q
9@ goEaIR gadon AmI?

Options:

1) innate abilities

@I ANG

2) cognitive skills
ARIAR 618

3) mental processes
Aede 9g

4) socially-learned skills
ALY TSI 6RNER

Correct Answer: 3) mental processes
Aede 9gl

Candidate Answer: 4) socially-learned skills
AAIeQ YS! 6T

QID : 760 - Which one of the following is NOT a stage of Cognitive Development as proposed by
Piaget?

FARYE FRIQ ARAR IR 69Q 08 T2EET T FIAl 96 FAUAIRKYRI?
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Options:

1) sensorimotor
646316

2) preoperational
JR96RaRIN

3) concrete operational
REQ 2AACAARIR

4) informal social
QRTAIR 625N

Correct Answer: 4) informal social
QAR 635R

Candidate Answer: 1) sensorimotor

€46QINNELNTR
[echofworld.In
QID : 761 - ensures that pedagogical approaches meet the educational needs of

each and every learner including learners learning with different paces and the learners with
special educational needs group.

421 gR8e Qfa 69 S840 QEERIEIGER Jesie daas 9l ZISaIaaIgeq gl @,
696g6a YaR 06Q FARI ATIE 99 68 AR AIRIRS! Y9 VIR 6T ARG |

Options:

1) Affirmative action
ARANR QGIGAIR

2) Social learning
ANFR Sl

3) Inclusive education
QFFe 99

4) Discovery learning
ARNRC)R@ G

Correct Answer: 3) Inclusive education
ARGe Gal

Candidate Answer: 3) Inclusive education
ARGe disl

QID : 762 - is the memorization of information based on repetition.

6208 YRAIQR ZRIGER ORI 996 Q4! |
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Options:

1) Meaningful learning
aeigd asl

2) Rote learning

(e1e @aQ dal

3) Social learning
AR Sgl

4) Imitative learning
Q@41 Sl

Correct Answer: 2) Rote learning
(612 Q@QQI a4l

Candidate Answer: 3) Social learning
AGS aa

Techofworld.In

QID : 763 - According to the The National Curriculum Framework 2005, which of these is the
characteristics of inclusive education?

FIP10 AI0YFE IR (FYIARIR *EPRE] 6TFER) 2005 2QAER, IGEe FUIQ @d AFFG JAR 9@ 635
263?

Options:

1) Make provisions - not restrictions adjust to the needs of the child
AI9GE 5218 K8Q-R0a4I @6L-IRNITA AILNIRT! AGAIA YT KRR
2) Use a white board wherever possible

6JR0I6R AR IR AP 6QIC MGLIQ *G

3) Use audio-visual media in all schools

ANL Y6 AGB-BgeIM FG8 eLIQ KR!

4) Make mid-day meals in school campus

YR J0AAEQ F1@-62 (N 990 *aQ!

Correct Answer: 1) Make provisions - not restrictions adjust to the needs of the child
AIReE 52IQ KEQ-R0R4l g6¥-dNTA 2ILAIRS! AGAEA NS K4S

Candidate Answer: 4) Make mid-day meals in school campus
M I9AAER Q-6 Fnd g0 @96

QID : 764 - Robert Kegan developed a theoretical framework that posited levels of
meaning-making

Q96 696I] IR CIFR QIBIQ FaIE Atigem QI 28 Gl & 2q gge @tad |
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Options:

1) two
Al

2) three
Q61T
3) four
Qe
4) five
QA5G

Correct Answer: 4) five
aIEe

Candidate Answer: 3) four

QFIEQUT

[ echofworld.In
QID : 765 - Inclusive education is committed to physical, social and attitudinal
barriers.
ARFS &9l AIQAR, AAGR IS° QIR A1 QRIIGER IE 9Ggeas a6e |
Options:

1) enhancing
QTSI

2) multiplying
a8l & @QQ
3) reducing
g @a<I

4) ignoring
26604l @QQ!

Correct Answer: 3) reducing
LU AQQ

Candidate Answer: 2) multiplying
6ty & QAR

QID : 766 - Which one of these schools of thought is associated with the concept of "learning as
meaning-making"?

NGER AR 609 SBRIRIR "2e-A41E Q6L SAI " 98end 986 2°9d 9287
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Options:

1) Constructivist
lelsislol

2) Cognitivist
6QIEB AFIF1C
3) Behaviourist
QILIQ DEJa1E
4) Gestaltist
oY

Correct Answer: 1) Constructivist
Sleloalas

Candidate Answer: 2) Cognitivist
EQRIGT A°FIB1R

Techofworld.In

QID : 767 - Which of the following can a teacher use to address the learning needs of her visually
impaired students?

@64 997 Aea 9A21¢ 81T 2IRGIRS! 9Rl RAS IR FIRYS AIQ @4 QIQLIQ FAAIGER?
Options:

1) Hearing aids

Q2UR° IR

2) Braille equipments
69m1 QULRRE

3) Visual boards
QAR 6Q1%

4) Assisted reading
Ideaq 8e°

Correct Answer: 2) Braille equipments
69M1 YUXAE

Candidate Answer: 1) Hearing aids
T2 9Q

QID : 768 - Physical inclusion includes which one of the following?

QNG AFRFER FANGE AP B LBPS AF2UIN?
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Options:

1) infrastructure and resources
(% A I Qlﬂ@%l@ﬁ?

2) social groups

AR 6N

3) cultural groups

AreER 691191

4) racial groups

RIBAG 6NS

Correct Answer: 1) infrastructure and resources
QA9 N9° AYRYER

Candidate Answer: 1) infrastructure and resources
AA0QI 9e° ARG

Techofworld.In

QID : 769 - According to whom "every function in the child's cultural development appears twice
first, on the social level, and later, on the individual level, first, between people (interpsychological)
and then inside the child (intrapsychological)*?

Q2! 2GR "TAAILT ArYTR FRIN6Q J6eIR Y QAR CAIARAN : JaF, AN IR6Q, 98° T6R
QIICIG YAER ; FAIBE QRGE I FIIEA (RAALIRCRICRITFIN) MG U6Q TRIT AV6R
(REIARECRNERITRAIR)"?

Options:

1) Lev Vygotsky

6NE NGNS,

2) David Premack

6euR 6971R

3) Josef Perner and Heinz Wimmer
6F16QT UFQ 1Q° 2 EAQ

4) E.L. Thorndike

.0 62)Id6R

Correct Answer: 1) Lev Vygotsky
EnE AINECIE,

Candidate Answer: 3) Josef Perner and Heinz Wimmer
6916QT ARG 9e° 21t EAQ

QID : 770 - holds that people try to determine why people do what they do,
that is, interpret causes to an event or behavior.

gl @22 64 6RIRAIEE 1T ARG RASIG 66 FALE 60 NG 6AAER TR
@A2Z, LG 6T YOI @l IR KSR UIY SULIRAN |
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Options:

1) Classical conditioning
QAR *EAG°

2) Attribution theory
IGQUAq caMIQ

3) Experiential learning
FEATCALIR NUGe

4) Operant Conditioning
260QIe QEAqe

Correct Answer: 2) Attribution theory
IGQIAR caMIQ

Candidate Answer: 2) Attribution theory
Gyaq ceMIQ

Techofworld.In

QID : 771 - Who classified domains of human learning into three parts — cognitive, affective and
psychomotor as educational objectives?

J9l QEREN QIFER 710G 9l TRICY BERIT VITER @9 TR KAZYER-JILE I°RIR, QAN IQ°
QEQIe@aI?

Options:

1) Benjamin S. Bloom
6e@nIfq 9 g5l

2) David R. Krathwohl
600Q gleain

3) Lorin W. Anderson
ERIAR 0QY 9YAA]

4) Norman L. Webb
AR IR, 66Q

Correct Answer: 1) Benjamin S. Bloom

69@NIfq 9 941

Candidate Answer: 2) David R. Krathwohl
6069 gIeaIm

QID : 772 - In which learning process are learners actively involved in the teaching-learning
process?

Ja-94Ql 9R0Ia 699 9aCIea SRICh AT QIR YYD FAG?
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Options:

1) process-centred approach
JT-6ag1 QA6IE

2) content-centred approach
TYALY-6EL1R QT6RIE

3) learner-centred approach

dRIeh-6a518 QI6IE

4) teacher-centred approach
JRQ-6091@ QT6RId

Correct Answer: 3) learner-centred approach
Jaiei-6a91e Q8614

Candidate Answer: 1) process-centred approach
9Fa-6391e Q8614

Techofworld.In

QID: 773 - is defined as a systematic process of collecting, analysing and
interpreting information to determine the extent to which pupils are achieving instructional
objectives.

q 9210 FRNQE @GS, F6TE I8° QYIS ARRIA Y@ GRS 9T VUFER ISt
ROIUAET 6996 TIGTIEE FELAINR ARG TIT KT |

Options:

1) Education

aal

2) Evaluation

ARUISS RTQ!

3) Faciliation

Qo KGRI QI

4) Curriculum designing
QI0IRE 9O AR

Correct Answer: 2) Evaluation
JRUIEE QS

Candidate Answer: 1) Education
gl

QID : 774 - The process of systematically gathering information as part of an evaluation is known
as:

FRIGER 2°¢ AINER YATE NI6S YOI IRE KRR BAIG -..cvvevveeee 69 GRIAIRAN?
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Options:

1) assessment
Ry AEIRE QAR
2) assignment
ARG QA

3) verification
QI8 @Qa!

4) education
Bl

Correct Answer: 1) assessment
gmy fFI0E @t

Candidate Answer: 2) assignment

RUIge 954
[ echofworld.In
QID : 775 - The purpose of is necessarily to improve the teaching-learning process

by being able to review the objectives that have been identified for different stages of learning?

Q 6244 IYIQ FER 6QIAIS AP T26 FAIAIA 23 RAIQ YA ARIFER FYRI 6 F¢IRS
JFUER ARG 289!

Options:

1) analysis

@694

2) assessment
e

3) extended learning
QAYAIGe a9l

4) discovery learning
2R (e Jal

Correct Answer: 2) assessment
Zaea

Candidate Answer: 3) extended learning
QAR dal

QID : 776 - Bruner's stage, involves the encoding and storage of information
where a direct manipulation of objects occurs without any internal representation of the objects.

g6aa=a 6QITIA 60 2I6F ORI § 6RIF S A0 ITC A 2R 6K & IR 9 V ABFES
geaieq @ 621a QAR Y268 621NN |
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Options:

1) discovery
2RV

2) symbolic
IORR

3) enactive
lalol

4) iconic
@198 g

Correct Answer: 3) enactive
aAFe

Candidate Answer: 3) enactive
alsiol

Techofworld.In

QID : 777 - Who among the following viewed learning as the process of "meaning making"?

NAIRE I Q @9 FYRIGIg 28 QIFIR @ARIR IR YT 6QIR UREC FB6R |
Options:

1) Jean Piaget
@a daleae

2) Erik Erikson
3R ORI

3) Jerome Bruner
66U @A

4) Lev Vygotsky
RS LIRETIT,

Correct Answer: 4) Lev Vygotsky
M9 VNCAISG,

Candidate Answer: 1) Jean Piaget
qe dalese

QID : 778 - The curriculum assumes that knowledge is transmitted
directly from those who have it to those who don't.

QIOHGA AR 6d BIF AGERER 6INCIER HIFT 6AFNINT AR 6QAUTIAT AISER 8D QIR
6QCIAE AISg TS 24
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Options:

1) subject-centred
QUR-6Tgw

2) teacher-centred
JAR-6F0R

3) discovery-learning
2T e Sl

4) learner-centred
Qel1-6a59

Correct Answer: 1) subject-centred
Q-6FER

Candidate Answer: 1) subject-centred
Fe-6FeR

Techofworld.In

QID : 779 - Learning objectives of which one of these are observable, can provide learning
evidence and can be recognised?

gl FRI @ 69 JAIQ AREYE 2GR FAILIRAIER, FYRIQ IS 62RAIAR, 1S 12Ig AIYE! FRIAIR AR
2

Options:

1) content-centred approach
FOARG-6RGR ARG

2) subject-centred approach
F0-6F5@ 988

3) learner-centred approach
FQIen-6559 086

4) teacher-centred approach
JAR-6G0R 986

Correct Answer: 3) learner-centred approach
QIeN-6a59 986

Candidate Answer: 1) content-centred approach

QUVRG-6QRGD ART

QID : 780 - refers to "the steps taken to reduce the degrees of freedom in
carrying out some task so that the child can concentrate on the difficult skill she is in the process
of acquiring”.

6R609E QIig G AIR 818 FING TAUKIRYY IRIVIR IA6Q LA ARSI AIel F2Il AR
Q699 950 969, 6ACRE dgS 64 delgQl @ERa QAK! AU6R IR 6LRAIRS
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Options:

1) Discovering
ARRIQARAS

2) Symbolic coding
IR 6RIFE QGQ
3) Structuring
RIS

4) Scaffolding

@G 18

Correct Answer: 4) Scaffolding
QR 18

Candidate Answer: 4) Scaffolding

QR6 OF
[echofworld.In

QID : 781 - 4R 986G 98Q, NS 84 AAF6A Q QIQLING GRIFY T2IL ATe |

Options:

1) 2IFAGITIS QEERIE]

2) Fedarns 9E6RId

3) J0RRe Q86RI4

4) QEINIY AQL1A 9RERIE

Correct Answer: 4) QIEIRII AYVIL QEEIE

Candidate Answer: 2) G654907@ QE6I¢

QID : 782 - ; ] QIR VY ATEQ 2IQ FATIN AT 964 |

Options:
1) YL, Q&F, ALY A1
2) 21961, A6, 994 A1

3) 21%6!, 99 AR, AVAS!
4) ATAG!, IR ATSIL, TIGY AR

Correct Answer: 1) QYAGI, QEF, ILY A1

Candidate Answer: 4) QF9QI, UL YL, FIQY AT

QID : 783 - @283 6 6nY8E FIed FAITIAIER VIS AYR ARSI AIRN LA 62RIS!
QAGIYE] YeAS FRET |
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Options:

1
2
3
4

EANS @S
QIgl QgG!
[LQ| PO
RQULINT A @[S

—

Correct Answer: 4) QUIJ9 @091 @EQ
Candidate Answer: 4) Qg€I97 @091 Q@AY

Techofworld.In

QID : 784 - 91RQ 2T 671GITQ |1 QU 994 212 6228 |

Correct Answer: 4) Q3Qeq

Candidate Answer: 4) 089g@

QID : 785 - “4@ gRI4Y 6 4R QUIPER AAIKIRYSI 995 §RY (il ¢ A0d) AU6R 99 gRAI" AR 6a9
GF6RIAIF QUQLE 62192 |

Options:

1
2
3
4

onal
Qg

QI8N
QBRI

—

Correct Answer: 1) @@@!

Candidate Answer: 4) Q4aQ2691Q

QID : 786 - 4% 6208 99 Q6944 219N K59 JIR VSIA LR, ARG 92 94 ERIST
G0sa QIRAINIEG 280 KA |

Options:

1)

2) asaq

3) FEAIERS
4) 6919

Sl
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Correct Answer: 2) o4

Candidate Answer: 1) 6QI9®

QID : 787 - GgRYS RIQ 6306 9918l AYREA CAITETREA AIR R4 2687

Options:
1) 6QITETINE 68GEQ FFI8 28-T09 YERIRN 2QYIER A°YL FAIIVAIER |
2) 6QIGETING A AIIAER IRIFS Q1B F2Q TIAYEIR YIFIFQ RGS 62ARNER |

3) 6CITETING ANFTR KI6R FRISAT FFILG 9L OR YIIF G AR |
4) QOIS QAL

Correct Answer: 4) QJ6Ia AL
Candidate Answer: 4) QJsQID AL
[ echofworld.In
QID : 788 - JRUISHQ G9F JIIQ QI9LIQ FRSIA ALY @6 26T?
Options:
1) SRIdic Qe Q& Q59!
2) dQiEhe A6RIRIQ 98 @aal
3) dgidlia 6gadl 98 QAQl
4) QeI AAY

Correct Answer: 3) J81E1w 6924l 98 @84

Candidate Answer: 4) QJeQIa 471G

QID : 789 - FORYS AP 62T JNIIFA GRID NIEE F6TE 621R2AN?
Options:

1) aQ1al

2) 6AITETIRG

3) AgQ!

4) Q9 (ANAI) 99° (SAIGETIRE)

Correct Answer: 4) Q@@ (99191) 96° (6UITETIRG)

Candidate Answer: 4) Q@@ (99191) 99° (CAITETIAA)

QID : 790 - YRGS FIQ 6266 ANBISR 2GR 621ReIa?
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Options:

1) AgR1

2) CUISETIRG

3) 23660 69RE°geR
4) Q0%

Correct Answer: 1) gQ1
Candidate Answer: 2) 6QIG6T/3

TechoﬁNoHdIn

QID : 791 - 626 gRI9R Q194 &I §Q oI 9an aRaI?

Correct Answer: 2) 6aIgdl

Candidate Answer: 2) 6194

QID : 792 - “g6:38” 6QICI6Q FAR1E 900 gRIa 528 |

Options:
1) QIeERQY
2) 69629R
3) YoQ1e

4) QUEAIB FRIQ 690G Q6%

Correct Answer: 2) 696@9m

Candidate Answer: 3) §aQ1e

QID : 793 - 56 FTAULIRLYS 9IA T2 | “QIRGI IR AINAGEE 6FGFER, IS° CIF AL AURRRET P12l
eQl@em 1

Options:
1) A0R QIR
2) 65l5@ QIRY

)

)
3) 3R IRy
4) 6A59-25% QIeY

Correct Answer: 2) 645@ Q1Y
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Candidate Answer: 3) 3@ QI

Download Tech Of World App

WtsApp/Call- 8596976190

QID : 794 - TORAYS QIRIER I QARSI QUTIE AAGA AIQ Q4 21667 “QI6 2048 Q2ET 1e° AQIR

8.00 60 gRI @Gl |

a
@
AVGIQ
ARCEREAS

Correct Answer: 2) Qd19

Candidate Answer: 3) @Q3IgQQ

Techofworld.In

QID : 795 - QRIFIE QNS 98 §E9 welle] @El 26e'?

Correct Answer: 2) @594

Candidate Answer: 2) @92a

QID : 796 - 3 62083 966 GG G2 TR EANR?
Options:

1) QialIgIel Qi

)
2) GIGHIQ 6E129)
3) 6aldqie (913
4) IGQ 67195 6QARIAG

Correct Answer: 1) QRI®IE Q4

Candidate Answer: 2) QJ&flMIS 66196

QID : 797 - gaif 632 99 989 Q16 929 |
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Correct Answer: 3) 609G

Candidate Answer: 3) 609

QID : 798 - ‘2GR0l 2TV AR FALQY Qdl 26T |
Options:
1) 636 2¢l QU6Q RIEGS
2) 6518 d¢1 QUSSR 2GS
)
)

3) &g 261 Qa6Q ARIGS
4) 39 ¥¢1 QU6 AIGE

Correct Answer: 2) 6Q1® &6 QU6Q 2GS
Candidate Answer: 1) 659 &6 QU9 2GS
QID : 799 - Jaudiedadiaag | daf 6Ry AT IRIEREN oo giedy gem |

Options:

1) 9T IIR 67129

2) ORa BAILE 62RI0G
)
)

3) Q6o Q1213
4) 6010912 NRIT

Correct Answer: 3) g60% 71213

Candidate Answer: 2) O@Q 60198 6QRI9G

QID : 800 - Fr&Q 67196 6ARINGE 10l T6 AU ‘ASFIQ GENeY @4l 81667

Options:

1
2
3
4

AN AAIFQ AFeide gan
AR F19RRQ LG
edllouéiq

Jqa@ 6gel

et

Correct Answer: 1) Qe@18 dAIea Joeide gae
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Candidate Answer: 2) dFIG® @190 Q123!

QID : 801 - 967 SRKIRYS| 9591 U6 YL URQ TAF JUIF FRGER ] 628 AZ0IR AGHS!

q 92 92 gag gea

2R 6OlIET & 601G RIE |

4 91Rge 8 QIR 694

a8 FAR6R,

QAR ARF 2ZALIR,

04 el 09Ia 69Y4 |

2Ia 6J69696R 2ICAIR CRSIAR!
2103 K89 A0,

¢ 692 Faaq G498 003 QI 671 6291 @50,
2R GI96Q 2IAA AE4!

@@ 60606967 YT 6265 @8 @R6R?
Options:

1) 64 gRYEF gaee

2) 69 gM 661n6Q

3) 69 999 QT JUIFES

4) 6Q G168 69IR AFES

Correct Answer: 1) 64 gngaq 8969

Candidate Answer: 1) 63 JRGEQ §a6Q

Techofworld.In

QID : 802 - 967 G2IAIRYQI R3S OF YYIERa aa Gag gUie Gad6a ¢ 62 Ag0IQ 2IREE!

¢ 92 92 gag gaa

219 66166 & 601 IF |

¢ 91Rger 8 QlaRg 69Ya

418 GAR6R,

QYA AR IGARIR,

a4 fal R09IR 69Y3 |

2R 6K6BERER 2IERIR CQHNTQ!

2IeR 99 ALY,

¢ 622 Faeq 608 Q4T Q121 6AIQ 6271 @88,
21 GI96R 2Iea *E]!

@9 Q€ 6IYES?
Options:

1) 99q6Q 919 @09
2) Qe

)
)
3) 2AIRIGER QlOm
4) Q6D AL

Correct Answer: 4) QUeQle 4919
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Candidate Answer: 4) QJ6QIs AL

QID : 803 - 6% TAYIRYS @FG! 0& J99ERQ 289 Fag JUiw FRE6R ¢ 626 AF0IR AIFKS!

¢ 92 92 gRg gaF

219 691I6S @ 601RE QI |

¢ a1Rger 6 Qlong 694

48 FARER,

AR 99 9ZYLQ,

29 99 A0SR 694E |

2R 6A606Q6% 2ICRIR QTR

2I0Q /A9 A2AQ,

¢ 6@ FRag FEa AAR LITIF 671Q 624! @OS,
2IR GIT6Q AL GRE!

699 0°36Q @ 699 26RIRYg JATIDE aes?
Options:

1) Y@

2) AR QTS ISR
3) QY60 ATAG 2RISR
4) QB2IQ RAAR AlERIR

Correct Answer: 3) 4469 990Q 2IERI@

Candidate Answer: 1) gdiaad

Techofworld.In

QID : 804 - G6% QRIS @36 08 J99Eea aaa dag gdie Fadea ¢ 628 Ag0IQ 2IRRS!

¢ 62 92 gRg g

219 691169 @ 601R3 I |

¢ o1Rger 6 Qleng Q¢

AIg FURER,

QAR 99! IS,

@2 99 R0%IR 6QYa |

2R 6A6S56R EIERIR CRHITR

2lad A09 420y,

¢ 6@ FFaq Faq *GF QI2IF 6A1Q 6291 @59,
219 IT6Q 2R QFG!

REG1 QI0RAIRE @'6 K987
Options:

1) 609 FRAGER 2ITGF SIAGS F6Q 6A0IQ QA IR TR I9° 6IRAIR GIF 99° FLBG AT K66 620§
el an

2) Qee1a 6d0da 2SR 6591G

3) TAQ 69960 Eg T AIFQ 6TTAIG 629 & R 00! Ye° JIEa AT ANAIGFRR AIF *QQIg 629 |
4) QU6QIS FRIQ ANG
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Correct Answer: 4) QUEQID F12IQ AFL

Candidate Answer: 4) QU6QIS (1UQ ANQ

QID : 805 - 967 S2AIRYS @T6! OT HFERR 28R Gag YT @ad6a ¢ 628 AF0IR ARRG!

d g2 92 gag §98

2R 64166 & 60173 QIF |

¢ Rge 6 Qeng 69Y

4I8 2096Q,

QYR AT 9GIYRIR,

a4 aa 2091 693 |

2R 6UEPER6R 2IERIR 6QEITR

2Iea 96Q ALY,

¢ 62@ 578q AEe AAR QITIF 671 6291 @90,
2R 91969 2o KG]!

QF 6REO6ERER UIRIG RIGEQ?
Options:

1) @Q 69606967 &F 2ER 02¢ @0UIRsT |
2) 6K606Q6R ARG AVIQ 6TRATS |

3) 6KI66696R A2Q KA 9GS 019 G141 €9Q |
4) Q6B Fug AL |

Correct Answer: 4) QJeaI8 ¢1UQ AAD |

Candidate Answer: 1) @@ 6060696 GF 28R G20 FAAIRES |

Techofworld.In

QID : 806 - 967 T2UILIRYS AGERT 9& YIJPRa QAR GG QIGETEN @l QIRcd 6208 1@ aBQ AIel 2T
S99, g8 ARER G@eN | 629ENR 98 F2N | GI2l a8ees, g8 94 6r1ped Q22N QIR 63969 WISg
QRGN | FINTY AR 2GER 6LIRNAN | FF 6819 8 CTINRIA 6TIRAN | ARNGER 7 Gl [IR A 6L
6212 | @3 0% Of 2958 62IR2N | 73 68 Aql 94! 9F 6TINAN | AMFER AR AIF 621R FFAN |
RIRCY I 9@ 6TIRAN, I9° 6Q9FR (IQ &8 QUTea FTaN | 699EQa In QIPea FhaI RIQd 6296
69T @16 Tl 6816 YR FIQI ANV 621REN CARIES QITEA AIRIag QIR 2IF | K16 6 6316 AYAIER
6QIEN QIRSYR AR RIRTAG TUNERY 6R1E 69R2UIS | UYRIF RIRCY QA9 8 984 2ICAARER AR2 |
AMGER BTN, AIRIGIAQ, 6 FINFIER QTN | FIRTAEA FLC 9¢ 9T TN QIRE T UG FIVIQE GRIg
2990 69RaN | @8 AIRgR YIP6Q AN A7 RIG° e, IZI TRea AIF AIEQ 9w AN 691@aI |
2P AREAER AT 609 QeI gA 0Is BgE 62IRAIRE TREA 6AER 6UEEER6R @8l 626 926 Ul
2QEEITE GRAIRG |

QRS GUINS 62R016R 6aYRlg FFad?
Options:

1
2
3
4

AR
QF6 2leaaa
QAR 26T
QAUCAUD AAD

Lo e b
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Correct Answer: 4) QeI 7L

Candidate Answer: 4) Qdeqla AL

QID : 807 - 967 S2UAIRQI AGERD IF g996aa e F2Ig QIHETrd] Q1 QIR 6208 I8 RA8Q Q1T 86
FI9¢), g9 FINEQ QTN | 6AYPRR U8 FAUN | VI 568, §E A9E 67198 AFEN LITIF 6AYERR FAQR
QIZIGEN | FIRCY EETR AIFER 62IREN | §F 6TI9 6 6CINRIR CRIRAN | AR 98 &)l @12 96 69
62192l | 78 0% 08 2FER 62RAN | 7F 98 T 94 U8 62PN | LRGPP HH6R F1IF 621K @2 |
QREY IR 9F VRN, 19° 649N FRIQ @F ATER FTAM | 699FFR In ATER FFAUN KIRE 6298
697 Q16 @) 6816 YR FIR UNAFVC RN 6FANNER QTER ARG QIIF 21T | F16 6 6816 AR
GEIGN QIRGYQ ZRY QIRCAq IRIAEAE] 6RIT CRRAIZ | Q1Y QINCY Qa8 @ F4 ICAARER AZaN |
AMGER AT, ARINAQ, 8 FINGFIEQ QL2 | INTLEN 9ge 99 UG FAN FIQE 97 U QIFIe KTely
2GAT 622N | B8 QAR FIS6A (1261 A8 6IG" 022N, Q2 TFER AIS FIQQ R AN 6N |
2RJIAIE FIRCLYER MY 699 QRN I8 ALie L0 AT TREA 6AYFR 6U66Q6R Al 629 9gF AIE
Q64N FAAIRQ |

FRLS €1 A5e8E K€ QEAIN?
Options:

1) 88 QI @ql
2) g7 Q1 699
3) a1
4) ge

Correct Answer: 1) g5 QI @4l

Candidate Answer: 1) g8 <l 4l

TechoﬂNoHdIn

QID : 808 - G6R CRIAIRYQI AFERT AT YT Aaa TUP AINETEN Q1 fIaed 6208 99 Q8Q IRl AT
G991, 98 FIREa GFaI | 62g@aa ag A | SI2I 8e6s, §8 A9d 671Qe8 92N QIRIF 629ERe aQ
QIRIFAN | YIRGY LR AGEA 6QIRAM | §F 6816 G 6TIRNININ CRIRLN | AMNGES 93 @l Q12 9T SR
62102 | G 0@ O 2159 621N | @8 918 &¢I 99 9F 6TIRaN | AFIGER @s?sa IS 6219 @@aIN |
RRCY gN 9% 6TIREN, 19° (UGPSR (IR &F ATEA FTAM | 6QgE In AITER JEaNM KIQE 6296
628 @16 @9 6816 AGF FIQI UAFVE RN 6AVANER QITER ARG FILIF 2IF | V16 G 6816 AFAER
665N FIRELQ 2RY FIRTAG IRIRERE] 691T 6ARAIE | AYR1Y AN QAN @ T4 2CTRARIER QT2 |
ARGER AT, FAIPIGILQ, 8 JIRGIER QLN | FINTIER 96 92 UG FAUN FIQE 98 UG QTIPS FFRIG
A3 6RaN | B8 YNGR VISR 1291 08 6RIE" AR, KIZI TR AIF QIGQ I AN 612N |
2RIAIE FIRCLER RE| 609 QRN 8 Adie GO AT TP §AYFR 660696 Al 627 @gF AIE
Q61N QTGS |

99 RIRELER 2SI 67FFIGER 525 LITI ©F YBINY @ 2QCAIVEER AL AGRI |

Options:

1
2
3
4

69151 F12FIYD QUTRR
Ag)l 6ea

ag 00968 6AQeE
QUGB AN

o e o

Correct Answer: 4) GQJ6QI8 AL
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Candidate Answer: 2) @l 60

QID : 809 - 567 QRUYIRYS AFERE TT YL AaQ G2 FICETEN QI IRTY 6208 1@ A8 AIgl 8T
997, 49 AIA6Q F@ald | 62gEaa ag RaN | GIgl 98REe, §8 A94 6AgQd aFaM QIR 629eaa FIEq
QZIRAN | QIR ACAR ISR 621N | GF 6816 B 6TINIRNIA IR | ARIGER 3a T AR AR 6Q
62IRRIN | 38 0@ 96 2IgEa 6TIRAN | &F dI8 A 991 a8 6TIRAN | AAYGER @sﬁea AIF c2IQ @@aId |
QNS IR 99 62ARRAN, 967 6QGER FrRIQ §8 QIg6a EIG‘EJI\’I | 6QGER0 IR QAIGER FTEM QI8 6QGER
698 Q16 QI 6816 YR TR VAV 621NN 6ALUTNEE QITER FITIAG IR 21T | V16 G 6816 AYAIESR
EOIGN QIRTAR ARY RINCY] AQIAEAY] 691F EARAIT | UYRIPE FIRTY QRS 8 FFE AICATARIER QTN |
AMGER ATR, AIRIGIAR, 3 FINTFIER QTN | QIRTIER FLE 9L UG AN QNG 9L ag QIE1e =E
29AE 602N | §8 QIRQA QILER 7120 08 6RIE° AFAIN, AIZ TRER QIS VIAQ A AN 6QIZAN |
YR FIRCYER Y| 669 Q@2 YV A4S L0 6RATR TRER 6AGER 66066 Al 629 ¢S A&
26T QUS|

6B AIQ 6966 AYET AR 2PE G692
Options:

1) 991 98 AR

2) 291950 QSR

3) 29 2QEa QSR
4) 626T \9° CINIRIN

Correct Answer: 4) 666l 99° 6aIRNIRIQ

Candidate Answer: 3) Q& 21950 A°00F!

Techofworld.In

QID : 810 - 96R TRUAIRSYSI AFERT A& FYTR QAR TAUF QIGIETEN @ RIRSY 62T @ AV QI 2T
S, g8 YIN6R Q@A | 6AgPae 98 KN | 912l 90968, g8 A9d 67QWE Q@M QIZIR 6AgEea K1Y
QIZIRAN | QIR UCAR AIQYER 621N | §F 6816’ G 6TININIA 6LIRAN | ARIGPR 3R FY QIR AT 6Q
62102 | 38 0@ A8 AQEA 6RARAN | AT 918 FF Q9 97 CARAN | AGER QREA AIF 62IR RN |
RIITY IM 9 62BN, 99° 6AGER g @8 ATER gTaN | 6AgERa I QIF6R JEaINM QIas 6AgeR
6Q€ Q16 B9 6819 AYF DI AAGVA 62IREN EANCIER QITER QIR AT &I | Q16 8 6816 AYAIER
69116 RIRGYQ AN VIRTAR TANCAE] 691 ERRAIT | UYRIE VNG QAR B VG AUCAARIER QF2UN |
AGER AR, FIRIGIAY, G FINGIER Q22N | QIRTIAER 9gE 98 U RN RIQE 9@ Ug QIFIge ARG
2908 6092 | B8 AIAYQ FI96R 29 AR 6RIT° aTEIN, QIR TRER AIE RGR (P AN EIZaN |
RIS PRGN ALYl 699 QRN JF ALIE IR 62IRANRS TRER 6AFER 6T6EERER Al 629 @ QIS
2Q6HITS FAAIRS |

JRgee afea AT goa?

Options:

1) QIGAIER IRFINFR UG LTAER ALITY 2B |
2) AP Q¢ |
)
)

3) AYETEN gm QUTER FES |
4) 209 (199168 FAIPTA YRG! A°TTER AIVIYY KAE 1) Ue° (YYETE IR TR F6T' 1)

Correct Answer: 2) gage @@ |
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Candidate Answer: 4) 294 (169169 JRAIGFR TAIG ATAEA ALY FAF |) 99° (AYETE IR
QUFeq g6 1)

QID : 811 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

The waiter/ waited at/ my tables.
Options:

1) The waiter

2) waited at

3) my tables.
4) No error

Correct Answer: 3) my tables.

Candidate Answer: 2) waited at

Techofworld.In

QID : 812 - Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully.

(I had studied all night), | would have aced my tests.
Options:

1) Would | have studied all night.

2) have | studied all night

3) Had | studied all night
4) Did | study all night

Correct Answer: 3) Had | studied all night

Candidate Answer: 3) Had | studied all night

QID : 813 - Choose the right passive sentence for this active sentence:
| will be working on the project.

Options:

1) The project will worked by me.

2) The project was worked on by me.

3) The project is going to be worked upon by me.

4) On the project | will be working.

Correct Answer: 3) The project is going to be worked upon by me.
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Candidate Answer: 3) The project is going to be worked upon by me.

QID : 814 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

We did not have slightest idea that he was a thief.

Options:

1
2
3
4

a

the

an

none of the others

— e

Correct Answer: 2) the

Candidate Answer: 2) the

Techofworld.In

QID : 815 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

The cat climbed the wall.

Options:

1
2
3
4

up/on
upon/over
up/over
over/into

—

Correct Answer: 1) up/on

Candidate Answer: 1) up/on

QID : 816 - Select the word that is closest in meaning (SYNONYM) to the word given below.
Irrelevant

Options:

1) Arduous

2) Reluctant

)

)
3) Unrelated
4) Unidentified

Correct Answer: 3) Unrelated

Candidate Answer: 3) Unrelated
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QID : 817 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
Release

Options:

1) Relinquish

2) Relieve

3) Captive

4) Rigorous

Correct Answer: 3) Captive

Candidate Answer: 3) Captive

Techofworld.In

QID : 818 - Select the word that is spelled correctly.
Options:

1) Auspicious

2) Auspitious

3) Auspisious

4) Auspictious

Correct Answer: 1) Auspicious

Candidate Answer: 1) Auspicious

QID : 819 - Select the most appropriate 'one word ' for the expressions given below.
Accorded a great deal of respect, especially because of age, wisdom, or character
Options:

1) Venerable

2) Supreme

3) Detest
4) Demean

Correct Answer: 1) Venerable

Candidate Answer: 3) Detest

QID : 820 - Select the most appropriate meaning of the given idiom with a similar Idiom.

Piece of cake
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Options:

1
2
3
4

Extremely difficult

Something which is very simple
Intuition for something dangerous
Invitation for birthday

—

Correct Answer: 2) Something which is very simple

Candidate Answer: 4) Invitation for birthday

QID : 821 - When a teacher engages a class in role play, what are they usually assessing?
Options:

1) Assessment of reading

2) Assessment of writing

)
)
3) Assessment of listening and speaking
4) Assessment of personality

Correct Answer: 3) Assessment of listening and speaking

Candidate Answer: 4) Assessment of personality

TechoﬂNoHdIn

QID : 822 - While assessing a child's written work, which one of the following should not be
focused on?

Options:
1) Fluency
2) Content

)

)
3) Accuracy
4) Symbolism

Correct Answer: 4) Symbolism

Candidate Answer: 2) Content

QID : 823 - Which of the following exercises focuses mainly on testing the vocabulary?

Options:

1) Match the following
2) True or False

3) Transformation

4) Multiple Choices

Correct Answer: 1) Match the following
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Candidate Answer: 1) Match the following

QID : 824 - The exercise in which a child is given a text in which the every nth word is deleted,
and is asked to complete the text by filling in the deleted words is known as

Options:

1
2
3
4

Dictation

Translation

Rewriting

The Close Procedure

ESn et e R

Correct Answer: 4) The Close Procedure

Candidate Answer: 3) Rewriting

Techofworld.In

QID : 825 - The process of giving grades or marks for a child's work is known as

Options:

1) Recording
2) Assessing
3) Reporting
4) Closing

Correct Answer: 3) Reporting

Candidate Answer: 4) Closing

QID : 826 - Among the following assessments, which one of these does not help in process of
Learning?

Options:

1) Scolding the child

2) ldentifying the strengths of a child

3) Using anecdotal records

4) Providing timely inputs or interventions

Correct Answer: 1) Scolding the child

Candidate Answer: 2) Identifying the strengths of a child

QID : 827 - Which of the following is not essential for Language learning curriculum?
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Options:

1
2
3
4

Making the class contextual

Following age appropriate pedagogy

Allowing children to discuss or talk while performing activities
Not allowing the children to get creative with their thoughts

S S et

Correct Answer: 4) Not allowing the children to get creative with their thoughts

Candidate Answer: 4) Not allowing the children to get creative with their thoughts

Techofworld.In

QID : 828 - The Smart board is a type of

Options:

1) Visual — Activity aid

2) Hearing aid

3) Video — Audio visual aid
4) Speaking aid

Correct Answer: 3) Video — Audio visual aid

Candidate Answer: 1) Visual — Activity aid

QID : 829 - Which of the following is not a Learning — Teaching strategy in the case of learning
English as a second language?

Options:
1) Confidence session

2) Fair play

3) Self and peer correction
4) Trouble-shooting session

Correct Answer: 2) Fair play

Candidate Answer: 3) Self and peer correction

QID : 830 - Among the following, which one of these is a characteristic of Pair Work?

Options:

1) Preparing learners for group work

2) Bringing a wider variety of language experiences in a classroom

3) Helping students in playing imaginary characters in a given situation

4) Providing an opportunity to use language, as used in real life circumstances

Correct Answer: 1) Preparing learners for group work
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Candidate Answer: 1) Preparing learners for group work

QID : 831 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

The Khajuraho temples are dedicated to which 2 religions?

= Techofworld.In

1) Hinduism and Jainism
2) Hinduism and Buddhism
3) Buddhism and Jainism
4) Jainism and Sikhism

Correct Answer: 1) Hinduism and Jainism

Candidate Answer: 1) Hinduism and Jainism
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QID : 832 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or frilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

Which of these is not a water body located near the Khajuraho Temples?

- Techofworld.In

1) Sib Sagar

2) Ganga Nadi

3) Khajur Sagar
4) Khudar Nadi

e o St

Correct Answer: 2) Ganga Nadi

Candidate Answer: 2) Ganga Nadi

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

QID : 833 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
friangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

How many of the Khajuraho temples are dedicated to Jain Tirthankaras?
Options:

1) one

v Techofworld.In

4) three
Correct Answer: 4) three

Candidate Answer: 4) three
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QID : 834 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

Khajuraho Temples were built by which Dynasty?

== Tachofworld.In

1) Chandela
2) Chalukya
3) Maurya
4) Chola

Correct Answer: 1) Chandela

Candidate Answer: 1) Chandela
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QID : 835 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

How many Khajuraho temples were there in the 12th Century?
Options:

1) 25

20 | €CNOTWOIQA. 1N
3)85

4) 90

Correct Answer: 3) 85

Candidate Answer: 3) 85
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QID : 836 - Read the poem carefully and answer the questions that follow choosing the correct

alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,
Because a fire was in my head,
And cut and peeled a hazel wand,
And hooked a berry to a thread;

And when white moths were on the wing,

And moth-like stars were flickering out,
| dropped the berry in a stream
And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,

| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

What did the poet catch in the stream?

== Tachofworld.In

1) A silver trout

2) A red berry

3) A blue kingfish

4) Silver apples of the moon

Correct Answer: 1) A silver trout

Candidate Answer: 1) A silver trout
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QID : 837 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,

| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

What did the girl have in her hair?

= Techofworld.In

1) Hazel wood
2) Silver Stars
3) Apple Blossom
4) Blue Berries

Correct Answer: 3) Apple Blossom

Candidate Answer: 3) Apple Blossom
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QID : 838 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread:;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,

| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

What did the poet use the berry for ?

o | @CHOfworld.In

1) to attract the girl

2) bait for fish

3) decoration on cake
4) grill in the fire

Correct Answer: 2) bait for fish

Candidate Answer: 4) grill in the fire
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QID : 839 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread,;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,

| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

Where was the poet wandering?

e | @CHOfWwoOrld.In

1) lands and hills

2) river banks

3) mountain tops
)

4) forests
Correct Answer: 1) lands and hills

Candidate Answer: 1) lands and hills
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QID : 840 - Read the poem carefully and answer the questions that follow choosing the ci
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And Kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

vinitWhy did the poet go to the hazel wood?

- Tgchofworld.In

1) to take a walk

2) because there was a fire in his head
3) to meet friends

4) because his head was too heavy

Correct Answer: 2) because there was a fire in his head

Candidate Answer: 2) because there was a fire in his head

QID : 841 - What should a teacher do to promote cooperative learning in social science
classroom?

ANEe FRIGa 658eT6e ANGIY FAIQ goIRR i 964 daqa 9'4 Ahel aFe?
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Options:

1) Engage students in debate and discussions
2I0a 0@ I9° RO §3C Q9P

2) Provide various source for project

gR68Q Qi F6R 22 ARRAIL R0

3) Give individual task

Qo8 QI Gaig

4) Divide the class in small groups

QUG 6219 6816 Y@ER WIG @Ay

Correct Answer: 1) Engage students in debate and discussions
219 Tod I° ZERIFAA FFC K9P

Candidate Answer: 1) Engage students in debate and discussions
219 0@ IQ° LRI FFC K9P

Techofworld.In

QID : 842 - What is most appropriate use of end-of the text question in social science book
chapters?

Q4 AAITR FRIF 2YIDFER6R I0Y G99 68960 AQ0IQ VUYD LR 2ES?
Options:

1) To identify the important questions

JRR98 999eR 886 @AQl AR

2) To assist teachers to summarise the chapters

Y0P ARG RA6E IR ALING! FAR! AR

3) To enable students to understand and express in their own words
ARIE1R IR FFY Q2 AR IL° YIS KGRI il AVE 624

4) No option is correct

6@1ed Sag a0@ Q6¢

Correct Answer: 3) To enable students to understand and express in their own words
dQ1d1a 01Q B399 @Al QEIRRI YL° JRId R0R AR AVA 689!

Candidate Answer: 4) No option is correct
6@16d Qag A0@ g6w

QID : 843 - Which of the following objective is most appropriate regarding assessment in social
science?

FORge Fe0gFea FU6r 6905 ANIFR FRIFQ FRIAR ARG AVIR RAYS?
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Options:

1) To motivate students by giving marks
Qqe ceq dIdig age @ae! aiR

2) To check student's memory level
Jnidis 9 99 a8l @39l ARl

3) For comparison between students
SIS FIER gRRI KA AIR

4) To encourage students

JRIelg QTG *RQ1 AR

Correct Answer: 4) To encourage students
Jaieiig @ade aQel ARl

Candidate Answer: 4) To encourage students
SRIelig QTG @RS AR

Techofworld.In

QID : 844 - In social science classroom, a teacher wants to assign a project on “Partition of India”
based on primary sources. Which of the following is not a primary source?

AR FRSQ 6559R6R, F6¢ J9a gIRIFR AR GIR6R "AIRGa UIFER" FUL6a 1@ geT 2d8 QEQIq
Q1231 ANYe 6966 gafa ag geL?

Options:

1) Newspaper archive
QUG LSS

2) Novels

QUK

3) Autobiography
2lFe1Qe

4) Oral history

601ge QeI

Correct Answer: 2) Novels
QA4

Candidate Answer: 2) Novels
QAL

QID : 845 - Which of the following is the most appropriate approach to develop an understanding
of “Democratic Institution”?

"IERIAR goTI" ARIHq QUIRRI AR AIA 6246 A0IQ AAYS ARI?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) To provide national level examples

@Y1 9ot LIS 9Ll @

2) Introduce harsh realities to students

dRIea QIR R60IQ QI AFES FAS!

3) Provide examples of realities with ideal situation
298 98PG Q6 QILLIR AITAE gIAUR K9

4) Describe ideal situations

2led 98@E del *GQl

Correct Answer: 3) Provide examples of realities with ideal situation
2led a8ds a0 QIER0Ia ARILRd gRIe KR

Candidate Answer: 3) Provide examples of realities with ideal situation
2108 900G A9 QI2T0IR RIITAL IR KR!

Techofworld.In

QID : 846 - If a teacher provide some clues to students and ask them to assess their projects on
the basis of those clues, then which of the following assessment has been adopted by the
teacher?

9@ 67193 F9e JR12I0 A8 A6R0 gOIF K08 1e° 69R $2gERQ SR6A 00 gRegee JRI9e KAl AR
Q28 , 6669 AR 624 RLAT G9R FIRI G216 62RE?

Options:

1) Summative assessment
Q°FY ¢)glae

2) Peer assessment

daa qglee

3) Self assessment

q qgee

4) Formative assessment
QORIPR ¢)RlIAe

Correct Answer: 3) Self assessment

9 9geaR

Candidate Answer: 2) Peer assessment
dee qgee

QID : 847 - In order to overcome the problems related to social science teaching and learning
process, the curriculum of social science should be

ANIFR IR AIOINIR 98° FYRIQ P ARG ANYIYER TR ANFR IRINR AIQFAT S7
QAGQ!
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Options:

1) comprehensive

Qe

2) based upon gender concern

AEIIC QQE RUQ B@ F6Q

3) Both comprehensive and based upon gender concern
QR YIIR 99° AFC APV AU B8 F6R

4) No option is correct

6@l9d Qag A0 g6L

Correct Answer: 3) Both comprehensive and based upon gender concern
QL QIR IQ° QGG AQT QU W6l K6Q

Candidate Answer: 3) Both comprehensive and based upon gender concern
QR QIR IQ° QRIS QYT QU G& K6Q

Techofworld.In

QID : 848 - Which of the following is an appropriate reason for assessing students through art in
social science subject?

AR FRGR FAAER FaaR! ARINER JB1E1R FIRRE FARI AR GY6R 6995 RAYS ARE?
Options:

1) It makes it enjoyable

421 2190 gRIe Q6Q

2) It provides an opportunity for personal interpretation of concepts.
N2l AIRAIGEY §9S QIYl ARG QI IR 6QIF GRIA FEQ

3) It improve student’s artistic ability

2! 99121 RVAR VG ARG R6Q

4) No option is correct

6@19d Sag A0R g6L

Correct Answer: 2) It provides an opportunity for personal interpretation of concepts.
421 AIBEIgPY 999 QY K0S IR 9@ 6T GRIR KR

Candidate Answer: 3) It improve student’s artistic ability
<2 da1ha AR QYL QARG KR

QID : 849 - Which of the following is not a challenge during social science teaching and learning
process?

AAIFR FRIFQ AIOHAIR 9Q° FYRIQ 9T ANRER FIRYS 699 & UIENS 96E?
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Options:

1) Uncertainty of objective
QWYL

2) Unavailablity of trained teachers
gdfe daea 28ga0!

3) Sufficient tools of evaluation
RIEea AdIg QG

4) Lack of instructional material
AP AAQIFA AWIQ

Correct Answer: 3) Sufficient tools of evaluation
RIeea adig AaeiIe

Candidate Answer: 3) Sufficient tools of evaluation
RI9Ra AKIg QAN

Techofworld.In

QID : 850 - Which of the following is correct about social science?

ANGS TRIF ARFER AR 6996 A0R?
Options:

1) Social science is not concerned with diverse concern of society
ANIER FRIS AAIFEQ FER AEAEY AR AED 6%

2) It doesn’t emphasise on homogeneity

92 AIFISINGIA QTR GRQ @9 QIF

3) It lays foundation of analytical and creative mindset

N2l G6HIEINR 99° YRR AIFIRGIQ 88 Q6s!

4) It is a subjective discipline

QI IR FYGS G

Correct Answer: 3) It lays foundation of analytical and creative mindset
2| G64I4IAR 9Q° JRIR AIRAQAIA @& Qss!

Candidate Answer: 3) It lays foundation of analytical and creative mindset
2| G69F€INR 99° 4RdIR AIRARSIQ @& Qss

QID : 851 - Ziauddin Barani was a chronicler of which of the following century?

FAARERIAINT FIRYS 629 PN AGTIANR M?
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Options:

1) 12" century
12 do@
2) 13" century
13 do@
3) 14" century
14 99w
4) 16" century
16 9@

Correct Answer: 3) 14" century
14 96@

Candidate Answer: 4) 16™ century
16 999

Techofworld.In

QID : 852 - Which present day Indian State was known as Gauda in the past?

628 SO VIAGIH AUF UG 6019 FIFER VTS JeR?
Options:

1) Maharashtra
ALIY

2) Guijarat

geaIe

3) Madhya Pradesh
RJY6QE

4) West Bengal
ARG

Correct Answer: 4) West Bengal
ARNQE

Candidate Answer: 4) West Bengal
QEAQEr

QID : 853 - Which of the following were called ‘samantas’ during seventh century?

QAge) FPIR1R FIRYLYLRR FIRIGR QILIG "ACB" G2l AIQRIRI?
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Options:

1) Petlytradors
alagaialloy

2) Bonded labour
Qags gdie

3) Big landlords

Q@ FQIQ

4) Artisans or craftsmen
RR9Q QI g1

Correct Answer: 3) Big landlords
Q@ QIR

Candidate Answer: 3) Big landlords
Qe @A

Techofworld.In

QID : 854 - The struggle of which of the following is called as “tripartite struggle” by the
historians?

A8 629 A°gINg ABTIATRAER "GaAAIL A°gIF" FIN6A ARG *8l ARS8 ?
Options:

1) Chauhans, Gahadavalas and Chalukyas

69121, FIRIFIAMI 9° SIEMIQY

2) Gurjara Pratihara, Chalukyas and Pala rulers
gelal geaia, Semiay 9e° AN SIAecé

3) Rashtrakuta, Chauhans and Chalukyas

QFQQI, 691219 9° IRQ

4) Gurjara-Pratihara, Rashtrakuta and Pala dynasty
61%1‘@\-@@@@, QURGE NQ° dim QUGS

Correct Answer: 4) Gurjara-Pratihara, Rashtrakuta and Pala dynasty
%]ﬁ?lGN-G_Z]@QIGI, QUEGC| NQ° dim UGS

Candidate Answer: 2) Gurjara Pratihara, Chalukyas and Pala rulers
gLIQl 9PLIR, QIENRY YS° AR FIARTIE]

QID : 855 - Which ruler Constructed a new garrison town named siri for his solders?

629 9I9R SIFa 63FaF AIR 9OF FRR QLR Fia1 Al AR ?
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Options:

1) Ibrahim Lodi

A9IA 6AID

2) Muhammad Tughluqg
JRIRQ QUNR

3) Alauddin Khalji
URQRR SRS

4) Ashoka

2ledll@

Correct Answer: 3) Alauddin Khalji
ANVES G

Candidate Answer: 4) Ashoka
26K

Techofworld.In

QID : 856 - Kingdom of Garha Katanga was associated with which of the following tribes?

IR FARI RITH QAT FIRYC 622 AURITQ AZC *GS?

Options:

1) The Ahoms
2llewied

2) The Gonds
69l

3) The Garos

GleRUL

4) The Kochs

6l

Correct Answer: 2) The Gonds
6%lled

Candidate Answer: 3) The Garos
qlexUQ

QID : 857 - Which national leader called “untouchables” as Harijan?

699 SIS10 6901 2ASR AIFISA "2FY" 69IR RIAN ?
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Options:

1) Dr. B.R. Ambedkar
@1 G.219. 2legeaa

2) Sardar Patel
QIR deT'm

3) Jawaharlal Nehru
FULAMIM SALY

4) Mahatma Gandhi
1LIF SIS

Correct Answer: 4) Mahatma Gandhi
1IN S

Candidate Answer: 2) Sardar Patel
dQ9IQ JETR

Techofworld.In

QID : 858 - During which national movement, nai-dhobi bandhs were organised by the
Panchayats to deprive landlords of the services of barbers and washermen?

6249 1910 2ICAINEA ANNEA, VEINEA STRIACIEE QTR 1&° 6MIR FIRE 6291 0IQ @EC @aQ! AIRl FIR-
6T @ Q ZBAURE @RAEA?

Options:

1) Swadeshi Movement

46Qdl dekIee

2) Non-Cooperation Movement
2deediol ZleLime

3) Paika Rebellion

AR F6919

4) Quit India Movement

WAL BN NS

Correct Answer: 2) Non-Cooperation Movement
24Ledial glewima

Candidate Answer: 3) Paika Rebellion
ARG F6QI9

QID : 859 - Who is responsible for introducing Mahalwari settlement in India?

QA0SR FIZRGAIQ 6LV JIERA TIR! QI &9 ?
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Options:

1) Thomas Munro

6211 1264

2) Holt Mackenzie

2R I6QaE

3) William Bentick

AREAN 695

4) Lord Cornwallis

Pe RRBARY

Correct Answer: 2) Holt Mackenzie

2R I6RaT

Candidate Answer: 4) Lord Cornwallis
% BRGARA

Techofworld.In

QID : 860 - Ain-i-Akbari book was written by :

2IPR-Q-2IRR QLT emgelen|

Options:

1) Akbar
2Iaa

2) Abu’l-Fazl
2QR-FIRN
3) Birbal
QAN

4) Jahangir
QLG

Correct Answer: 2) Abu'l-Fazl
2IQ'R-TFIM

Candidate Answer: 2) Abu’l-Fazl
29" R-TIR

QID : 861 - 'Stri PurushTulana’ is a book authored by

‘A YR8 Qaal’ @ 1A QG 9@ QT
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Options:

1) Pandita Ramabai
Qe QAIRIR

2) Tarabai Shinde
QIR 68

3) Savitri Phule
AITG gem

4) Sarojini Naidu
A6ARAT FIRG

Correct Answer: 2) Tarabai Shinde
QLG TER

Candidate Answer: 3) Savitri Phule
ASG gem

TechoﬁNoHdIn

QID : 862 - Raja Ravi Vermawasa
QR QT QFI 968 6RI
Options:

1) painter

S|

2) writer

Smeie

3) weaver

Q4I9I

4) sculptor

el

Correct Answer: 1) painter
Sadigl

Candidate Answer: 1) painter
ogagl

QID : 863 - In which year did Ahmedabad mill strike take place?

2ILTRCIQ TR 696 28R 290IF AGER?

Options:

Correct Answer: 3) 1918
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Candidate Answer: 2) 1920

QID : 864 - Which of the following is called the ‘house of the people’ in Parliament?
G060 6RAE QAL ‘FRTIQ AR T §97?

Options:

1) Rajya Sabha
QURAB

2) Lok Sabha

Sati=seia]

3) Cabinet

alzialel

4) No option is correct
6aled Qag A0 ged

Correct Answer: 2) Lok Sabha
Cml@wll

Candidate Answer: 2) Lok Sabha
emladal

Techofworld.In

QID : 865 - Which of the following does not come under the Union List?

G0Q 6996 A9 IR 2I9e 216d AIE?
Options:

1) Railways
[

2) Air Force
Qe QIR

3) Telephone
EORETRIR

4) Fisheries
1y

Correct Answer: 4) Fisheries
1y

Candidate Answer: 4) Fisheries
a1y

QID : 866 - Which of the following is not a Directive Principle of State Policy?

7012 6966 QIga @1BAIRIR Feddal 615 g6w?
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Options:

1) Separation of Judiciary from executive

AAI21 01 IFIQ FNIG YANIRAE ARG

2) Organisation of village panchayat

Qe ABILLER L°GI0R *Q

3) Uniform civil code for the citizens

QGRS AR 2Ee A6R 6118

4) Protecting the sovereignty and unity of our country
261 6Q9Q AIFEWNNG IF° IR0IG A AR

Correct Answer: 4) Protecting the sovereignty and unity of our country
217 629 AIREHAQ N9° ILGIg A8 K4S

Candidate Answer: 3) Uniform civil code for the citizens
QIGea AR 2Ee J6e 6al1e

Techofworld.In

QID : 867 - Article 18 of the Indian constitution deals with

QARSI QAR 2618 Q AFTER ARG

Options:

1) abolition of untouchability
29g0l FeMIA

2) equality before law

2Rl 2l06s L6

3) abolition of titles

QIeq @pd

4) protection from arbitrary arrest
AIRLIF FTRAR OIQ oSl

Correct Answer: 3) abolition of titles
RIea @94

Candidate Answer: 1) abolition of untouchability
29¢0l FeMA

QID : 868 - Who is considered as the ‘Law officer of India’?

‘AURRR NG 20! &9 F6Q00 @@?
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Options:

1) Comptroller and Auditor General
RIAR 96° (19 TGRER

2) Attorney General

2IGF 627169%

3) Union Law Minister

6ag1% 2inaeal

4) Judge of Supreme Court

Jae eaica Folae

Correct Answer: 2) Attorney General
265G 6801w

Candidate Answer: 4) Judge of Supreme Court
ggn 6100 G0

Techofworld.In

QID : 869 - Naveen Patnaik who became the chief minister of Odisha after the election of 2019
belong to which political party?

2019 9gia AIIGR U6a BFHIR (YR AR ATRINR 674 AINEToR ARA AIHS?
Options:

1) Bhartiya Janata Party

QIe%1R 890l QI

2) Biju Janata Dal

Ig 9961 oF

3) Indian National Congress

GIRSIE P K°6g<

4) No option is correct
6@l6d Sag Q0@ gev

Correct Answer: 2) Biju Janata Dal
3g K69 oR

Candidate Answer: 2) Biju Janata Dal
g 990l oR

QID : 870 - In the elections to LokSabha, how many seats are allotted to Odisha?

ERIGANI FIRER BRAIR 6R6EIT 2IAE AR AR §97?

Options:

Correct Answer: 3) 21
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Candidate Answer: 3) 21

QID : 871 - Aspects of Geography should be taught keeping in mind the need to inculcate in the
child .

P60IRQ FH6RGE AR FICAZBHD FHSIR YEAUFFITIA K2l 961 Y J6SRSI AFF |

=~ Techofworld.In

1) a critical appreciation for conservation of environment
AR694 OTEQ AR NKE AFIERISR

2) inevitable aspect of social reality

AR AILTIR 2FAI To6R

3) about natural disaster in the country

69649 9I90@ 964I6 AAFER

4) No option is correct

6@led Sag A0@ Qew

Correct Answer: 1) a critical appreciation for conservation of environment
05624 °ATEQ Ui 9GS AAIERIGR

Candidate Answer: 4) No option is correct
sqlad Sae a0e gee

QID : 872 - In Geography, learning should involve visits to

GERIRER, FYRIQ AIGTER Q QRede @G0 6291 QDS
Options:

1) Museums

QG RIREN

2) Monuments

goea

3) Both Museums and Monuments
Qlh L°Y LIt 49° ﬁ@@‘a

4) No option is correct

60193 Ga9 A0Q Ged

Correct Answer: 3) Both Museums and Monuments
[kl L°Y LIt 49° e;ﬁgg

Candidate Answer: 3) Both Museums and Monuments
Q060 2GR 1e° 9622

QID : 873 - In Geography, students may be asked to explore the

gsclinca SaIgia 2GARNIR KRR G2 AIR AIEAI
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Options:

1) local surrounding

R 9RFS

2) local skills and materials

I @A 9Q° QURAE]

3) observe the activities of communities
AYQING FAKRID Ad6e8d *EE!

4) All options are correct

A9g Yag A0

Correct Answer: 4) All options are correct
a0g 9eg A0

Candidate Answer: 4) All options are correct
a01e Qg A0@

Techofworld.In

QID : 874 - Which of the following activities can be taken up by students while learning
geography?

|. Student may be taken to visit nearby museum

Il. Students can be encouraged to watch the night sky

Ill. Students can be taken to visit historical monument

QTR YR ANUEQ FIRYS FAKRIAFER AR I8 @0 A0S ?
. SRl QSIS CYRIREG 69T

II. ST QG ARG 62YRER QATE FAULIRDIER |

lIl. FRIEINIeG ARG FEIAT 69%Ql AIR AR AR

Options:

1) Only l and Il
6@aa | - |

2) 1, lland llI

[, 119<° |1l

3) Only Il and Il
€@a@ 11 e Il
4) Only | and 1lI
Qe | Qe 1l

Correct Answer: 2) |, Il and lll
[, 119 11

Candidate Answer: 3) Only Il and Ill
e@ew 11 qa° Il
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QID : 875 - What kind of activities can be done outside the classroom while teaching geography?
I. Field Trips
Il. Surveys

Q6SlIR F6318SI AF0 6gIRT6R QIRIEA 634 URIR FARFIT ARl AIR TIEA?
. Q124 QIg!
1. Qlss!

Options:

1) Only |

c@aq |

2) Only I

e@aq Il

3) Both I and Il

I 9e° || aue

4) No option is correct
e@led Qag A0 geL

Correct Answer: 3) Both |and Il
|1 9e° || e

Candidate Answer: 1) Only |
6@Qq |

Techofworld.In

QID : 876 - is an order of behaviour and the process of extending an idea into text.

62MI PG FE1 99° 9@ UIREITER AIQ 9IS @819 gFll
Options:

1) Discourse
geee

2) Semantic

Sl

3) Pragmatic
ok (el

4) Syntactic

{6a

Correct Answer: 1) Discourse
q4eoR

Candidate Answer: 2) Semantic
aRidia

QID : 877 - Teaching aid in social studies helps in illustrating natural phenomena like

AAIRR YO 6AF6R FRNQIE ARG Q OR2l gI9ee 96R1q 589 /09l ARG K6Ql
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Options:

1) volcano

2sa05a

2) rain

|

3) earthquake

paea

4) All options are correct
08 Seg A«

Correct Answer: 4) All options are correct
aA0e Gag A0

Candidate Answer: 4) All options are correct

A2 g A0R
[ echofworld.In
QID : 878 - are helpful in reinforcing students learning when there is difficulty in creating

real atmosphere.

g9e 9a6a4d GuIGea AR 626m SNIEA SEAIR 6AG6R JTNININREa AR
Options:

1) Teaching Approaches
494 986

2) Teaching Aids

JQ4 QeaI9g

3) Teaching Remedies
§o° goaa

4) Diagnostic Teaching
glaeada 66°

Correct Answer: 2) Teaching Aids
98 AeANG

Candidate Answer: 3) Teaching Remedies
5e° goaIa

QID : 879 - teaching refers to a group of teachers working together in order to optimize
resources, interest and expertise.

J910 22 AR, 2GR ¥e° GASIR 2AGFRRAIQ Ain IR0 I AR TR N |
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Options:

1) Team

Qe

2) Individual
goea

3) Supportive
delg@

4) Guided
dAQIRG

Correct Answer: 1) Team
Qe

Candidate Answer: 3) Supportive

A9Ige
QID:880-  is a sequence of activities that mvolve a group of students to study, do

research, use thelr experience, skills in performing the given task assigned by teacher in
Geography classroom.

FURRIAYER 19 991 QI G geaa JRIEIa ALICAIR], IRV AR, B0 LERG!, REIRR
650860 99620 QIal gea AId AR AR QT R2IRA AITER FEG!

Options:

1) Survey

Q6@

2) Project

ges

3) Both Survey and Project
Q6 IS° IRF A

4) No option is correct
6719Q Sag A0W G6L

Correct Answer: 2) Project
gag

Candidate Answer: 1) Survey
Q6@

QID : 881 - Which two elements combine to form quartz?

6QATF FOF6R 699 AT ARG YRGS 97
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Options:

1) Silicon and iron
ANDE 98° QG

2) Silicon and aluminium
JRRE 9Q° aIpfdan

3) Silicon and oxygen
AR 1Q° AFERR

4) Aluminium and iron
2IRAGAN 9e° 2R

Correct Answer: 3) Silicon and oxygen
ANRS 1Q° 2F6aR

Candidate Answer: 1) Silicon and iron
ANRR 9Q° 2IRAR

Techofworld.In

QID : 882 - K, or Godwin Austin, the second highest peak of the world belong to

K, Q1 90208 238, 89a @010 Q618 J3a
Options:

1) Purvanchals

geIER e

2) The Karakoram range
QAR SR

3) The Hindukush

2094

4) Andes

AR

Correct Answer: 2) The Karakoram range
@ACRIGUC QAR

Candidate Answer: 1) Purvanchals
gRIER e

QID : 883 - The country with which India shares its shortest border is

Q 2egel

642 6Q96Q 980 AL P10 AFYRT AF |IF K6Q QIR 62N |
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Options:

1) Pakistan
akgie

2) Bangladesh
QwieYd

3) Bhutan
QoIe

4) Afghanistan
AT

Correct Answer: 4) Afghanistan
2GR

Candidate Answer: 2) Bangladesh
QRNIEDS

Techofworld.In

QID : 884 - Which one of the following is a fibre crop?

FIRNYG 6996 ¥RG 6F FSIN TAN?

Options:

1) Rice
%

2) Maize
el

3) Wheat
9

4) Jute
63I%'

Correct Answer: 4) Jute
6QI%'

Candidate Answer: 2) Maize
al

QID : 885 - Which of the following planet is called the “Red planet”?

RGOS FE9 F45 "AR 92" §2I §47?
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Options:

1) Jupiter
Qeqge

2) Earth
Qa1

3) Mars
e

4) Neptune
62999

Correct Answer: 3) Mars
121

Candidate Answer: 1) Jupiter
Qeaoge

Techofworld.In

QID : 886 - Light year is a unit of .

ZIeRIe F Q QR

Options:

1) Mass
QYR

2) Temperature
allalella]

3) Pressure
QId

4) Distance

e

Correct Answer: 4) Distance

Qg

Candidate Answer: 1) Mass
QAR

QID : 887 - The instrument that is used to measure the intensity of an earthquake is

QIRH6Q 91901 IR RAQI AIR ART 3920 29 G 62N |
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Options:

1) Richter scale
AR 63R

2) Mercalli scale
Alan 63R

3) Seismograph
QRHRR(CAREIFICT)
4) Barometer
QTR

Correct Answer: 2) Mercalli scale
AR 6%

Candidate Answer: 4) Barometer
QleQUTR

TechoﬁNoHdIn

QID : 888 - Great Victoria desert is found in
696 Qe FIQRF 6@ @ QNI
Options:

1) Africa
talagell

2) Australia
JIatd]

3) USA
2lIeIRQ

4) Russia
a2l

Correct Answer: 2) Australia
geamell

Candidate Answer: 4) Russia
Qa2

QID : 889 - Which one of the following is a depositional landform?

G0 R6RLG ULRNR AUIST?
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Options:

1) Sinkhole
deeain

2) Gullies
gRINQ

3) Cave
Qe

4) Beaches
AQ 9«

Correct Answer: 4) Beaches

aqq qe

Candidate Answer: 4) Beaches

499 Q@

Techofworld.In

QID : 890 - Nomadic herding is practised in which of the following regions of the world?

Q2RI FIRYS 694 ULREQ AR AIR ARG 972
Options:

1) Arid and semi arid
I 9Q° 2RI GR6a

2) Hot and humid
ARE 9Q° 21G

3) Cold and wet

0Iq] 8 6QE

4) Swamps

SRR

Correct Answer: 1) Arid and semi arid
I 9Q° 2RI g6

Candidate Answer: 1) Arid and semi arid
§8 9Q° 2RI FRER!

QID : 891 - Shifting cultivation is known as Jhumming in which of the following regions of India?

RIS CIVIFIQ VAR FYRYS @4 ULRER GF° FINEQ ARFG?
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Options:

1) Central India
R QRS

2) Northwest India
Qee-A8q ANQ

3) Southern India
QRé QS

4) North East India
Q09 g< QIee

Correct Answer: 4) North East India
Q@0 g 9Iee

Candidate Answer: 2) Northwest India
QeQ-A8A Qe

Techofworld.In

QID : 892 - Which of the following crops is a cereal crop?

JAYe I99PN9 IR 6RRE IFRISIL TFAR?

Options:

1) Jute
6Q19

2) Wheat
QL

3) Coffee

@
4) Sugarcane

2y

Correct Answer: 2) Wheat
Qe

Candidate Answer: 4) Sugarcane

219

QID : 893 - Hindon river is a tributary of

P60 21 Q 9QG SISl 9Q11
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Options:

1) Ganga river
Q6P @R

2) Chambal river
QIR AQ1

3) Yamuna river
QIR Q1

4) Mahanadi river
ALIFQT 9@

Correct Answer: 3) Yamuna river
AR 941

Candidate Answer: 2) Chambal river
@ Q1

Techofworld.In

QID : 894 - The main mineral constituents of mantle are

2L I &S QUQIFYGR |
Options:

1) Silica — Alumina
AR - AQda

2) Silica — Ferrous
PRI - 679

3) Nickel — Ferrous
F6am - 699

4) Silica — Magnesium
ARSI- QIoeadun

Correct Answer: 4) Silica— Magnesium
ARSI- QIoeadaua

Candidate Answer: 2) Silica — Ferrous
dRQI - 6CQQ

QID : 895 - The gas that is found in abundance in air is

QIYER X AACNSERQ 6< Q1A FF QI G 62 |
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Options:

1) Oxygen

260

2) Carbon dioxide
QIR - QIR - AFIAG
3) Nitrogen
FRELIERR

4) Helium

y(=ialle]

Correct Answer: 3) Nitrogen
QIRETIETR

Candidate Answer: 1) Oxygen
UGeaq

Techofworld.In

QID : 896 - lonosphere is a part of

216216013210 QA NQG 2
Options:

1) Mesosphere
6016Q@2IQ

2) Stratosphere
Y612

3) Thermosphere
26432

4) Troposphere
geaIgeQ

Correct Answer: 3) Thermosphere
e[t

Candidate Answer: 4) Troposphere
g6aIR2Q

QID : 897 - Low pressure is associated with

2aally Q AFER FGRI
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Options:

1) Cloudy skies and wet weather
671521 2118 9° 32 AI§als

2) Clear skies and hot weather
ARG RIS NS° FQF IS

3) Cloudy skies and hot weather
6616)2ll 2liwlel 9Q° SRl adalg

4) Clear skies and wet weather
AR 2GRS 99 GRS

Correct Answer: 1) Cloudy skies and wet weather
6711211 2IRIS 99° BQ Igials!

Candidate Answer: 2) Clear skies and hot weather
AR RIS L R QIS

Techofworld.In

QID : 898 - The temperate grasslands of North America are known as

Q99 ZISATRIA FIGAI6R1E gagf 2aIe6a AR9a!
Options:

1) Praries

gased

2) Savannas

AR

3) Downs

Qe 990 A

4) Velds

senIgd

Correct Answer: 1) Praries
alalas!

Candidate Answer: 1) Praries
gaead

QID : 899 - How much area of Odisha is covered by forests?
@FEI0 6R6G 25X QRIER QI 21907

Options:

1) 1/2

2)1/3

3)1/4

4)2/3
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Correct Answer: 2) 1/3

Candidate Answer: 1) 1/2

TechoﬂNoHdIn

QID : 900 - In which part of Odisha coastal plain is Chilka Lake found?
334l QAR ANPFQ Q4 2raea SRR 2@ AF QAN?

Options:

1) Eastern
ge

2) Western
agiq

3) Northern
LEAENTE
4) Southern
Qg6

Correct Answer: 4) Southern
Q6

Candidate Answer: 4) Southern
Q&
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